DISTRICT ALL

VILLAGE OF LOMBARD REQUEST FOR BOARD OF TRUSTEES ACTION For Inclusion on Board Agenda

X	Resolution or Ordinar				sted
	Recommendations of	Boards, Comn	nissions & C	ommittees (Green)	
	Other Business (Pink))			
TO:	PRESIDENT AND B	OARD OF TR	USTEES		
FROM:	Scott Niehaus, Village	e Manager			
DATE:	November 5, 2014	(B of T)	Date: Nov	vember 20, 2014	
TITLE:	2014 Driveway Aproi Change Order No. #2	and Final			
SUBMITTED BY:	David A. Dratnol, P.F.	E., Village Eng	ineer LAN	<u>V</u>	
	DLICY IMPLICATION				
	change order is intended. This change order wint of \$216,645.65.				
FISCAL IMPACT/I	FUNDING SOURCE:				
\$2,108.15 INCREAS	F				
	ONTRACT: \$216,645	.65			
P.O. #: 0908					
Account No.: 410.71	0.725.75420				
Review (as necessary					
				Date	
				Date	
Village Manager X_	Marian Company			Date	
MOTE.	All materials must be	aubmitted to a	nd annuariad	hv the Willege	
NOTE:	All materials must be Manager's Office by				
	Distribution.	12.00 HOOH, W	cuncouay, pr	lor to the regentia	
	D WIII WIII				

InterOffice Memo

To:

Scott R. Niehaus, Village Manager

Through:

Carl Goldsmith, Director of Public Works

From:

David A. Dratnol, P.E., Village Engineer

Date:

November 5, 2014

Subject:

2014 Driveway Apron, Curb and Sidewalk Restoration Program

Attached please find Change Order No. 2 for FY 2014 Driveway Apron, Curb and Sidewalk Restoration Program. This is a final balancing change order that increases the total contract value by \$2,108.15 to reflect the measured quantities of work completed.

Program		Current Contract	Change Order #2	Total	Budget
Curb	RM 25	\$49,329.00	\$0.00	\$49,329.00	\$50,000.00
Trip Hazard	RM 15	\$82,215.00	\$0.00	\$82,215.00	\$85,000.00
50/50 Program	RM 16	\$18,498.38	\$0.00	\$18,498.38	\$20,000.00
Parkway Restoration	RM 19	\$64,495.12	\$2,108.15	\$66,603.27	\$70,000.00
	Totals	\$214,537.50	\$2,108.15	\$216,645.65	\$225,000.00

This change order will be presented at the November 11th Public Works Committee meeting. If recommended by the Committee, please present this change order to the Board of Trustees at the November 20th meeting. If approved, please have two (2) signed copies returned to PW-Engineering for further processing.

RESOLUTION R

A RESOLUTION AUTHORIZING A CHANGE ORDER INVOLVING A INCREASE IN THE DOLLAR AMOUNT OF THE CONTRACT OF \$10,000 OR MORE

WHEREAS, pursuant to Illinois Compiled Statutes, Chapter 720, Section 5/33E-9, units of local government are required to make specific findings prior to authorizing any change order relative to a contract which would increase or decrease the dollar amount of the contract by \$10,000 or more, or would extend or shorten the time in which the contract is to be completed by thirty days or more; and

WHEREAS, staff has presented and recommended the proposed Change Order No. 2 to the contract between the Village of Lombard and Strada Construction Co. regarding the FY2014 Driveway Apron, Curb & Sidewalk Restoration Program, as attached hereto as Exhibit "A" and made part hereof, to the Corporate Authorities of the Village of Lombard; and

WHEREAS, said change order attached hereto as Exhibit "A" would increase the dollar amount of the contract by \$2,108.15.

NOW, THEREFORE, BE IT RESOLVED BY THE PRESIDENT AND BOARD OF TRUSTEES OF THE VILLAGE OF LOMBARD, DU PAGE COUNTY, ILLINOIS, as follows:

SECTION 1: That after reviewing the explanation of staff as to the necessity of and reasons for the change order attached hereto as Exhibit "A", the President and Board of Trustees find as follows:

- A That the circumstances which necessitated said change order were not reasonably foreseeable at the time the contract was entered into.
- B. That the basis of the change order was not within the contemplation of the contract when the contract was signed.
- C. That it is in the best interests of the Village of Lombard to approve the change order in its proposed form.
- D. That to the extent that it may have been necessary to go to bid relative to the work contemplated by said change order, bidding is hereby specifically waived as to the change order work.

Resolution Page 2	
and Board of Trustees hereby appr	g made the findings set forth in Section 1 above, the Presiden rove the change order attached hereto as Exhibit "A", and direct at and Village Clerk to execute said change order on behalf o
Adopted this day of	
Ayes:	
Nays:	
Absent:	
Approved this day of	, 2014.
ATTEST: Sharon Kuderna Village Clerk APPROVAL AS TO FORM:	Keith T. Giagnorio Village President
Thomas P. Bayer Village Attorney	

VILLAGE OF LOMBARD CHANGE ORDER

PROJECT NAME: PROJECT NO.:	FY 2014 DRIVEWAY	APRON, CURB ANI	D SIDEWAL	LK RESTORA	TION PROGRAM	1
LOCATION:	Various			CH	ANGE ORDER:	2 and Final
CONTRACTOR:	Strada Construction C	0.			DATE:	11/5/2014
DESCRIPTION OF	CHANGE ORDER:	This change orde	er is for the f	inal balancing	of as-built field o	uantities.
ORIGINAL CONT	RACT BUDGET AMOU	NT:			[1]	\$205,537.50
TOTAL OF PREV	IOUS AUTHORIZED C	HANGE ORDERS:			[2]	\$9,000.00
CURRENT CONT	RACT AMOUNT: ([1]+[2	2])			[3]	\$214,537.50
PROPOSED CHA	NGE ORDER: (PENDI	NG APPROVAL)			[4]	\$2,108.15
PROPOSED REV	ISED CONTRACT AMO	OUNT: (PENDING A	PPROVAL)	([3]+[4])	[5]	\$216,645.65
NET OF ALL CHA	NGE ORDERS: (PENI	DING APPROVAL)	([2]+[4])	\$11,108.15	<u> </u>	
TIME EXTENSION	N OR REDUCTION:			N/A	_	
TOTAL CONTRAC	CT TIME: (PENDING A	PPROVAL)		N/A	_	
BUDGET ESTIMA	NTE:			\$225,000.00	<u>) </u>	
ENGINEER'S ES	ГІМАТЕ:			\$224,017.50	<u>.</u>	
RECOMMENDE	FOR ACCEPTANCE :					
Thomas Z	Dilan 11-5.	·/너 Approved By:				
Resident Enginee			irector of F	inance		Date
	11-5-					
Contractor	Da	te (<\$10K or 25%) \	/illage Man	ager		Date
Unul A	Broked "15/	Y Approved By:	60 D	tal and t		D-1-
Village Engineer	Da	te (-siotorizato) (√illage Pres	ident		Date
Director of Public	1	Attest:	Village Clerl	•		Date
	VV01110			•		54.5
Assistant Director	of Finance Da	te				
	it as part of this change or and guarantees are hereb					

C.O. #2 and Final

_
6
E
₹
2
RES
8
Ì
SIDEWAL
Ä
<u>s</u>
త
8
Y APRON, CURB & SIDEWALK RESTORATION
ź
APRON
귤
>
S
M
DRIVEWAY
40
2014
7
ш

2		Carrent	משמ	משו העוכה	lotal		rinai	Jorgi Price
		Quantity			A	Add or Deduct	Quantity	
20200100	EARTH EXCAVATION	51.90	CY	\$30.00	\$1,557.00		51.90	\$1,557.00
20201200	REM & DISP UNS MATL	00:00	CY	\$30.00	\$0.00		0.00	\$0.00
21101615	F & P TOPSOIL 4	348.20	SY	\$3.00	\$1,044.60	24.10	372.30	\$1,116.90
25000110	SEEDING CL 1A SPL	349.00	SY	\$0.50	\$174.50	23.30	372.30	\$186.15
42300200	PCC DRIVEWAY PVT 6 SP	269.90	SY	\$52.00	\$29,634.80		269.90	\$29,634.80
42300400	PC CONC DRIVEWAY 8 SPL	19.40	SY	\$52.00	\$1,008.80		19.40	\$1,008.80
42400200	PC CONC SIDEWALK 5 SPL	17324.30	SF	\$6.00	\$103,945.80	320.70	17,645.00	\$105,870.00
42400800	DETECT WARN, PLASTIC	278.00	SF	\$15.00	\$4,170.00		278.00	\$4,170.00
44000200	DRIVE PAVEMENT REM	1017.40	SY	\$9.00	\$9,156.60		1,017.40	\$9,156.60
44000500	COMB CURB GUTTER REM	943.20	FOOT	\$5.00	\$4,716.00		943.20	\$4,716.00
44000600	SIDEWALK REM	16638.00	SF	\$1.00	\$16,638.00		16,638.00	\$16,638.00
60603800	COMB CC&G TB6.12	1254.70	FOOT	\$17.00	\$21,329.90		1,254.70	\$21,329.90
00050909	COMB CC&G TB6.24	21.50	FOOT	\$17.00	\$365.50		21.50	\$365.50
00650909	COMB CC&G TB9.12	00.00	FOOT	\$17.00	\$0.00		0.00	\$0.00
66900200	NON SPL WASTE DISP	00.00	CY	\$50.00	\$0.00		00:00	\$0.00
70101700	TRAF CONT & PROT	06.0	T SUM	\$1,000.00	\$900.00	0.1	1.00	\$1,000.00
Z0004534	BIT DRIVEWAY PAVT 9	497.40	SY	\$40.00	\$19,896.00		497.40	\$19,896.00
Z0004538	BIT DRIVEWAY PAVT 10	00:00	SY	\$40.00	\$0.00		00'0	\$0.00
Z0000990	AGG FOR TEMP ACCESS	00:0	SY	\$20.00	\$0.00		00.00	\$0.00
				Current Total	\$214,537.50		CO #2 Total	\$2,108.15
							Lote Total	20 270 0700